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Note:- You have four choices for each objective type guestion as A, 8, C and D. The choice which you think is correct;
fili that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles

will result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the

sides of the Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation.

Use of ink remover or white correcting fluid is not allowed
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(D) (C) (B) (A) QUESTIONS Q-1
JU-30 Years | Ju-20 Years | JiL-50 Years | JL-40 Years |The Half life of cobaltis —eoiUif §edts | 1
fr ot 1y 2y e bl ST 2
Monitor Memory CPU Controlunit | The brain of any computer system is
U CalA ‘ﬁ{ [y Ji,;r'_ﬁ; 2l L-ﬁ’{f.,@ P . L.jf{w,?g;&f 3
Both Aand C Logical Non arithmetic | Arithmetic | The Basic operations performed by a
" Operation operation | -Opetatida |computer are
S PR W~ -
4 b § sl TR 4 Ui 4
Types of waves are
350 ms™ 340 ms™ 330 ms™' 320 ms™ - KJ”L’{Z'/;?” 5
The Speed of Sound at Room temperature is
e SEnERE | 6
1.33 2.45 1.31 1.52 A
The refractive Index of ice is
0 £ . e 3 (. A
£ S i erdut | dnufdrissoie Editnonl SHHEGu| T
s Which one of the following quantity is not
Its wavelength | Its frequency Its Speed Its Direction change during Refraction of light.
e sl KLy N 8
9x107"'Nm?*C™?| 9x10°Nm?C™ | 9x10"'Nm?C? | 9x10°Nm*C” Fedd '
The value of 'K’ In Coulomb's Law is
Uds BalA | B Su | gruae e | gy @l e.mfu Py S| o
Both A and B | have different | Two different are same ) .
anils quantities quantities Electric Potential and emf.
BJXKJ%;JJ/*‘J;Q..Q»EC@RL.@)Z[ 10
1202 8Q 40 2Q) )
o ¥ il Lize 3pMae fi
The combined Resistance of two Identical Resistors
connected In series. In series 8 ohm their combined
Resistance In a parallel arrangement will be
ey Bl | et Fe (ctrndv| vl e B Koz S5 EF| 11
Magnetic Stationary Stationary ‘
co;ﬁ negative Positive Small mass | The presence of magnetic field can be
Pass charge charge detected by a
g '):;:,__{ f/fig' ff!’f:.?g'f _Q_?Z_Uf(u:szﬁc.iy;{r'fﬁ 7“-?1&45_-1 12
Electrons Protons Negative ions | Positive ions | The particles emitted from & hot cathode surface are
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Part 1 st

Answer briefly any Five parts from the foliowings:-

Define reflection of waves.

What are mechanical waves, write an example.
Differentiate noise and music.

Write down two uses of ultrasound.

Define intensity of sound, write its unit.

Define potential difference and write its unit.

What is unit of resistance? Define it . S v/ f! "‘c. lf../:‘ KJ”?J (viiiy  What is meant by electromotive force’-’“.:., Sy Ve 972 :’r‘:/dl

st
5x2=10 - S22 L7 by e e L Sitn -2
_Q//_Q,;Ju’ng}g; i
e FE G
IS FIPS Lot (G
St L 51 (iv)
ey S5 s v
g S SUE S P i)

(vii)

Answer briefly any Five parts from the followmgs - 5x2=10 -Q&fuuf/ﬂ":.l?l &tc..ljfc:,u: d’} Lo -3

Define power of a lens and its unit.

Define the terms Resolving Power and magnifying Power.

State Coulomb's Law. _é b ¥ A (iv)
Define the unit of capacitance.

What is the role of computer in everyday life.

Differentiaie between the Primary memory and secondary memory

What is Internet

Answer briefly any Five parts from the followings:-
What is meant by mutual induction? Define its Sl unit.
-2 PSP/ i
Write names of two parts of cathode ray oscilloscope.
What is meant by trouth tables.

Define thermionic emission.

Differentiate between atomic number and neutron m_:mber.

What is meant by nuclear fusion.
Wirite the causes of background radiations.
Part Ii
Note: Attempt any two guestions.

ey Loaai S2 )

S ot St 5 Emt ot iy (i)

Define Total Intemal Refiection.-2% 3 7§ g)’gjjfrﬁ (iii)
il LA W

- ;b/l_._fg.;};;rd JA?J sriss (Vi)
& J/ lfc)[./» LS Sk ns) dn‘.'-’d/l{ (vii)
- et (viii)

sx2=10 -y Sz febiz FLizt by e $e S ditn -4
2 wpleysil e Ve Fr S i)
What is meant by eiectric motor..csi/ ¥ Ve /f.ff‘:'! (ii)
Aol R Al s ()
-k Ve Ha) {v)
LB SPL A sl AL (i)
e i A (vii)
_J.._.Li: SIS ,c:lf_,c (viii)
(s -~
9x2=18 Al fer Lctrne 8 &

Distinguish between longitudinal and transverse waves with (74 P U}’G‘UJJ:’L; u/ul/nﬁ. u‘;u’;/l/»f J:z’-’g’ O)-5

suitable examples.

An object 30 cm talt is located 10.5 cm from a concave
mirror with focal length 16 cm

(a) Where is the image located? (b) How high is it?
Wirite four characteristics of series combination of capacitors.
A electric bulb is marked with 220 V, 100 W. Find the
resistance of the filament of bulb. If the bulb is used 5

hours daily. Find the energy in KWh consumed by the bulb

in one month (30 days)

What do you understand by the term word processing and data managing.

Technetium-99 is a radicactive element, has half fife of 6 hours if there is

200 mg of this Technetium present, how much will be left in 36 hours.

_J/_.-'*an’b‘

(5 1y ko6 L105 cme s Pr79030 em okl (o)
¥#16 cm EQJRJJ//:_,

SIS Eio) ¥z W E @)

(A4 ) _u:”j._.m";lp Sizny el J)"f (O)-6

(Z9) JJ‘G.-V[J1UUWJ)'220VIJJ/C"J ()
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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles

will result in zerc mark in that question.

Write PAPER CODE, which is printed on this question paper, on the both

sides of the Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation.
Use of ink remover or white correcting fluid is not aflowed

(D) (C) (B) (A) QUESTIONS Q-1
4, 3% (S g Lr -t ijﬁuﬁig:_@gﬁf’?lrb?u:rzfs 1
Wavelength Amplitude Frequency Speed In a Vacuum all electrumagnetic waves have the same
wm? W m W m? wWm' S.1 unit of Intensity is. 2
' p=sini n=sinr - 51“’: - sin/  |Snell's Law is - JIF B’Jf:'/ 3
sin/ sin 7 :
gﬁ:’{;}(c:.u:ul h_'_dﬁ:{:/: h’.daﬁf“’ _;,C,/»,f -q..rt(Jié.aﬁJb:’f?;Csklﬁé.Lib*é£ 4
None of these | Bronchoscope | Cystoscope ope which is used to examine throat is called
F=GM F=ELq F:% : Law is. _.;.u}l?(_,)f 5
2 ;
¥ -
.ﬁJnlrr AP w‘fuﬁéc_‘:?c_. wl 12V| 6
60 W 30 W 14.5W 48W flnf LA L iney
iyt 25A < LU
What is the power rating of a lamp connected
to a 12 V source when it carries 2.5 A?
600x 107 | 300x10°Qm | 200x10°Cm | 100x10°Cn e O LBy S S k| 7
Specific resistance of metal Nichrome is
LJifsses | e $A, S| S 5» < ! Sy SR | 8
21 inlk f’ i 2 s/ 1% < bl e bl The step-up transformer
Has less tumns in | Has more turns | Increase the | Increase the
secondary coil in primary input Voltage | input current
_Qdfc:.u:u! ...ngc.Lﬂui U1 Uil ﬁJﬂ'g'_s,:__a,,fJ‘:!}d: 9
Ertige | Snp ad Lt ol Ly <V | The output of a NAND gate is ‘0’ when
Any ofits |Any ofitsinput! Bothofits Both of its
input is '’ is'0’ input are '1’ input are '0’
£ e L eS3752 koo ce Sk S ol | 10
Gathering Calculating | Manipulating Arranging | Which of the following is not processing.
eA £ 1054 | ¥ 1084 | w1034 | 2 1024 e sl LT 11
1054 KB 1044 KB 1034 KB 1024 KB 1 megabyte is equal to
s § o8 | aduhy AL Sl | et B P L AL G L RIAT] 12
Number of Number of Atomic . Isotopes are atoms of same element with
electrons Protons number Atomic mass | different.
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Part 1 Jﬂ & -

Answer briefly any Five parts from the followings:- 5x2=10 -qf;f.-.grz/"’é!m ék;ljl(c;.gﬁ ;Zj s 2
Define Amplitude. _Eff...é'/".Ji_c' DR
Define mechanical waves. -éa{-é’f?U/d’M (i)
What is meant by noise poliution. ) -goly ifc, uru‘ TU/;;; {iii)
What is meant by Zero bel. —elpPe g iv)
Define Ultrasound. Pl ECA ()
Define the unit of resistance. ey LY wi)
Define conventional current. ,2{_4,1/5;5/ i (vii)
Define electric power. _ide;;LJ}OI {viii)

Answer briefly any Five parts from the followings:- 5x2—10 u‘/;f/’uw /’Zm gl. c..ch..q,CJ s 3
Define power of lens. Also write its formuia. _& S festrl Ve st A @)
Write down the function of Gastroscope. -dﬁ JL-/! (._,;_ﬁ, ),{ (ii)
Write laws of reflection. _éf /]7 © ST (iii)
How electric charge is Produced. - byl d/ L;bJ/‘j {iv)
Write two uses of capacitor. . uwr,,[_ x5 W)
What is meant by floppy disk and hard disk. cepf e L L3 (Vi)
Write two Advantages of E-mail. &l il JU (vid)
Write names of two parts of computer. & L U L 2 (viii)

Answer briefly any Five parts from the followings:- 6x2=10 gl fen L by e et ditn -4
Write two factors effecting induced e.m.f. -éJl:"u)_.ls &t st /i/ HEIS iy k(i)
State the Faraday's law of electromagnetic induction. é’: [0}% Jgﬂ .@C' :/ﬁl AVIOL N P2 :!/' {ii)
Differentiate between analogue and digital electronics. .—f Il u’( /'j J"’:u:i.f g1 (i)
Explain NOR gate. | -J/....?L#s J._,f;t {iv)
Define Cathode ray oscilloscope. ( CRO) S SFe s W)
Write two characteristics of beta particles. 2y ..,L»:-"u S )’j;t e (vi)
Differentiate between atomic number and atomic mass number. LEEOL ALt /."J ¢ {vii)
Define natural radio activity. 2w G haJE (i)

Part 11 {2 -~

Note: Attempt any two questions. 9x2=18 -Q‘/{,’LLW Lelrne Jf - d
Explain the following properties of waves with reference to  ( PRI AT SRy J- f2ds 0.5
ripple tank experiment. (i) Refraction (i) Diffraction u'f 25 (iit) Lr( 2o (iy U J

An object is placed 6 cm in front of a concave mirror that has (25) eldc 10cm i'?‘)(s’Ju’;/zﬁ,().( ()
focal length 10 cm. Determine the location of the image. -u’fp‘” u” b J Cl ¢y g Lo 6 cm
What is goid leaf electroscope? Explain its working G IS r(& J e dx u'...;"/’;/-al...d 4 0)-6
principle with a diagram. -L//r--" L,,rr)’u,,,u; ¢

If the length of copper wire is 1 m and its diameter is2mm (£5) JJ# Ir2 mm LK s mdUu;bJ/K/ ()
then find its resistance. é 3"” u}u

what is meant by Computer? What is role of Computer in every day life (A4 s M) V¥ wa o Se sl U’;. ,frf -7
carbon-14 has a hlf ife of 5730 years. How long il it ke for he quanilty 7% 14 ~ursq JL- 573050y J 14 - gk (-

of Carbon-14 in a sample to drop to one-eighth of the initial guantity? Sy s = . 4' Libn [ & g L5 d'ff-’
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